SHSFEE (2023FE) NPOXEEE (KIITHhTRI7ZUR) ~ADHFHIKR

g = : . i HETEkE B ERFTE EEETIT

NO. %MTE 551']'%0)125% &% (E&ﬂ%) ﬁs 5:\2]7, 5 @ﬁs 5]\2} _ﬂg
FEEMN FLEHH | BN |[HEFH FEHFH FS

1 R5.4.2 |BEZ (5DSEHIBL) 11,000
2 R5.4.6  |E4 (553 EMED 22,000
3 R5.4.7 |4 (5D EHIBL) 11,000
4 R5.4.8 |E4 (553 EMED 11,000
5 | R5.4.12 |EE4 (5D EHIBL) 12,000
6 | R5.4.12 |IEA (5D EHIBL) 12,000
7 | R5.4.12 |4 (5DSEHIBL) 11,000
8 | R5.4.15 [E4 (528 15,000
9 | R5.4.15 [ (5538 11,000
10 | R5.4.15 |E4 (5D EHIBL) 8,000
11 | R5.4.20 |EEZ (5DSEHIBL) 15,000
12 | R5.4.25 |EA (5DSEHIEL) 15,000
13 | R5.4.25 [E4 (5H53EHIBL 8,000
14 | R5.4.25 |EA (5DSEHIEL) 28,000
15 [ R5.4.26 |EE4 (5DSEHIBL) 390,000
16 | R5.4.26 |BEEt=hOKER-3H) 789
17 | R5.4.26 [BkXS4ah(3H) 924
18 | R5.4.26 A —%GH) 462
19 | R5.4.26 |EkSEttath (REAEERRE % —3H %) 422
20 | R5.5.3 [ (528 100,000
21 | R5.5.6 [ (5230 300,000
22 | R5.5.10 [ (528 15,000
23 | R5.5.12 [ (553EH8) 22,000
24 | R5.5.12 |7V efcBHRI R4 1] 101,628
25 | R5.5.12 |07~y 7 2[Ra%%H] 2,682
26 | R5.5.12 | (B FFiEREIR3% 1] 9,654
27 | R5.5.12 | (BR) (kR (5145 5) [Ra# 3 ] 29,406
28 | R5.5.12 |FVPr I R4#%HA]) 118,584
29 | R5.5.12 [al-a—FRb7—X v/ U RIR4% ] 131,478
30 | R5.5.12 |#hA&JIH vV MIRFERRIRATE ] 4,413
31 | R5.5.12 | YN —E Ly [R4#5 ] 16,071
32 | R5.5.12 |ZAR—FV=#R[R47% ] 4,582
33 | R5.5.12 [\PE[R472H] 18,563
34 | R5.5.12 |BkStbaay —[Ratgi] 2,611
35 | R5.5.12 |WNAR7F[R43]] 99,694
36 | R5.5.12 |¥FI=z="—H LY — AR[R47E ] 10,902
37 | R5.5.12 | (AR BRZEAE S S b BT [R47% 451) 14,703
38 | R5.5.12 |FRReH/ SR [Ra% 4,500
39 | R5.5.12 [H R —b Ly V) a— g At (R4 ] 61,473
40 | R5.5.14 |EA (553 EHFRD) 17,000
41 | R5.5.14 |4 (5D LML) 15,000
42 | R5.5.17 [t HOKER-4H) 678
43 | R5.5.17 RS2 HUA) 798
44 | R5.5.17 |HIE —3;UH) 399
45 | R5.5.17 |[#EEtah (KEER % —4H %) 281
46 | R5.5.18 |EA (5D EHFD) 22,000
47 | R5.5.18 |E4 (5D LML) 11,000
48 | R5.5.19 |FEA (5D EMIFL) 11,000
49 | R5.5.20 |E4 (5DIEHIFL) 15,000
50 | R5.5.25 [ (52EEH) 15,000
51 | R5.5.25 [ (523E#8) 11,000
52 | R5.5.25 [ (52EEH) 15,000
53 | R5.5.29 [EA (523E#8) 12,000
54 | R5.5.30 [ (52XE8) 11,000
55 | R5.6.5 [ (52318 12,000
56 | R5.6.8 [HEAStE=xHOKIER-5H) 399
57 | R5.6.8 |k Et=H(GH) 704
58 | R5.6.8 [AiE —xGH) 352
59 | R5.6.8 [BkA&ttar (aERE % —5H%) 743
60 | R5.6.14 [E4 (528 10,000
61 | R5.6.20 [EA (523E#18) 14,000
62 | R5.6.25 |4 (5-HSLihfi) 8,000
63 | R5.7.5 [ (523EHH) 15,000
64 | R5.7.25 [FE4 (55EMHL) 11,000
65 | R5.8.10 [ (523EH) 390,000
66 | R5.8.17 |RRA\StLiA{b3 2,670
67 | R5.8.25 [ (523EHHL) 11,000
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FLEMN FEIH B | FHEEFE Eans

68 | R5.9.4 [FE4 (HBEEHBL) 15,000

69 | R5.9.10 |E4 (5DELHBL) 11,500

70 | R5.9.10 [FE4 (55EEHBL) 127,000

71 | R5.9.10 |E4 (5DE LB 8,000

72 | R5.9.11 [BEAXStE=2HOKIER-6H) 501

73 | R5.9.11 [kt h(6h) 758

74 | R5.9.11 |FH¥E —F6H) 379

75 | R5.9.11 [BkX&ttah (aERE % —6H %) 884

76 | R5.9.11 |BEASth=A0KER-TH) 492

77 | R5.9.11 [RX&rh=Hh(TH) 1,254

78 | R5.9.11 |FH¥E —F(TH) 627

79 | R5.9.11 |#RAStt=th (AEEREZ—T1H5)) 1,150

80 | R5.9.11 [Bth=ahOKER-8H) 993

81 | R5.9.11 [ &t H(8AH) 1,120

82 | R5.9.11 |[AHIE —3%EB8H) 560

83 | R5.9.11 [KkA&ttah (RAEREZ—8H %) 1,228

84 | R5.9.23 [[E4 (5BS ML) 10,000

85 | R5.9.24 |[EA (55SL#1BL) 40,000

86 | R5.9.24 [[E4 (5DSEMBL) 20,000

87 | R5.9.27 |[EA (55SL#1B1) 20,000

88 | R5.10.24 [\ th=a b OKER-9H) 558

89 [ R5.10.24 [k &= HOA) 800

90 | R5.10.24 A —3%09H) 400

91 | R5.10.24 [FRAE&tt=ah (RAER L Z—9H %) 1,142

92 | R5.11.13 |70 ecBHIRI R AT 121,791

93 | R5.11.13 |7 =27 2[R5H(#] 1,242

94 | R5.11.13 | (BR) FHEER [ R5RiTHA]) 11,043

95 | R5.11.13 | (k) FHigeba (5135 47) [R5 41,132

96 | R5.11.13 [FVPv /I R5RTHA]) 62,619

97 [ R5.11.13 |2 - a—F R 7 —2 Vv S WRIR5 T ] 149,049

98 | R5.11.13 [#4&)IH v 7L MIRFERR [R5 RITH] 5,094

99 | R5.11.13 [V RU—E L P [R5RTH] 10,512

100| R5.11.13 [FAR =RV a@R[R5ATH] 5,668

101 | R5.11.13 |/ \FE[ RS/ ] 20,279

102 [ R5.11.13 |BkStba=ay —([R5gITH] 2,176

103 [ R5.11.13 [BRA7Z[R5a1H1] 104,476

104| R5.11.13 |[¥Fao="—F L4 —t AFR[R5FTH] 10,368

105 | R5.11.13 [ (/AR MZEE S UL BIIRSATHT] 20,566

106 | R5.11.13 [F RSt/ MESER [REATH 5,000

107 [ R5.11.13 [N —E LoV a—va B ESH[R5RTH ] 65,949

108 | R5.11.13 [WrFr—a3=2=F 1 L2+ [R5mTH] 5,612

109 [ R5.11.21 |BEA S AOKIE)R-10H) 483

110 [ R5.11.21 |BRASAE=A10H) 748

111 R5.11.21 [AE —2004) 374

112| R5.11.21 RS (RAEFE L Z—10 %)) 779

113 ] R5.12.21 [BFEXEA =2 HOKE)R-11H) 360

114 | R5.12.21 RS =AU 1LA) 780

115| R5.12.21 [AE —3%011H) 390

116 | R5.12.21 [BEkXEt = (AEFE L Z—114)) 1,836

117] R6.2.1 [BEXEt=2H0KER-124) 351

118] R6.2.1 |[BEX&Stb=H(12A4) 616

119 Re.2.1 |\ —7802H) 308

120 R6.2.1 [BEXEH = BAEFREZ—124)) 1,400

121 R6.3.26 [kt hCkiE)E-1H) 300

122 R6.3.26 |BRASAE=A0H) 748

123] R6.3.26 [AE —x%(1A) 374

124]| R6.3.26 [HkXEttah (AaEREE %—1H%) 3,083

125| R6.3.26 [kt hGkiE)E-2H) 408

126| R6.3.26 [klE&ttah(QH) 430

127 R6.3.26 [AE —3%CAH) 215

128 R6.3.26 [kXEttah (RAaERE%—2H %) 1,503

129 | R6.3.29 |%fT#E CGEesICLD) 5,322

130] R6.3.31 [SAXEMPLUCET DV DHLEL-SK)10 ] LAKEIEY 1,196,500

& 7 14,520 | 120,094 = 970,019 0 3,300,492

& 1,104,633 3,303,162
wast 4,407,795




